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SECTION A - K1 (CO1)

Answer ALL the questions Bx1=)5)
1 | Match the following
a) | Zamindari System — N.M.Joshi
b) | Pabna Agrarian League — Lord Cornwallis
¢) | Madras Labour Union — Dr.Gajendragadkar
d) | ILO — Ishan Chandra Roy
e) | National Commission on Labour — B.P. Wadia
SECTION A - K2 (CO1)
Answer ALL the questions Sx1=)5)
2 | Answer the following
a) | Ryotwari system was predominantly implemented in which part of British India?
b) | The Wagon tragedy is associated with which Peasant Uprising?
c) | Which city was famous for the production of Muslin in the Colonial Times?
d) | The AITUC is the trade union wing of which political party?
e) | According to the Trade Union Act of 1926, what is the minimum number of trade union members
required to register themselves as a union?
SECTION B - K3 (CO2)
Answer any THREE of the following in 100 words each. 3x10=30)
3 | Identify the features of the Mahalwari system.
4 | Discuss the significance of the Maratha Uprising.
5 | Examine the significance of the rise of Industries in India.
6 | State the Provisions of the Trade Union Act of 1926.
7 | Explain the various legislations for labour welfare in Independent India.
SECTION C - K4 (C0O3)
Answer any TWO of the following in 200 words each. 2x12.5=25)
8 | Analyse the two phases of the Peasant Movements in Colonial India.
9 | Examine the causes that led to the Telangana Movement of 1946.
10 | Assume the role of Communists in the Trade Union Movement of India.
11 | Examine the recommendations of ILO’s conventions.




SECTION D - K5 (CO4)

Answer any ONE of the following in 500 words (1x15=15)

12 | Interpret the Millenarian concept from the perspective of the Santhal Rebellion.
13 | Assess the difficulties the Workers in the Unorganised sector face and suggest solutions for the
upgrade.
SECTION E - K6 (COS5)
Answer any ONE of the following in 1000 words (1x20=20)
14 | Estimate the role of the National Commission on Labour.
15 | Discuss the reasons for the Indigo Revolt and the role of Ryots and Intelligentsia in its success.
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